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Recall. Integra;tion'by parts formulas:
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~ Example 1. Liate¢, a fictional coffee shop customers

oetting served at the rate of:
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where £ is in hours since 7:00 AM. How many people get serviced betweeh\Q:OOAm

and kl:OOA ? Round to the nearest customer. . . L=




oé has a rewards club, and the number of members can be mod-

Example 2. Lial

cled by: - o £
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n January 2015, and t = U
f members during the period
ave equal duration for

where t is the number of months after its opening I
d the average number O

corresponds to January Ist. Fin
consisting of March and April. (Assume that all months h
(his problem.) Round to nearest whole number.



JJe 8. To attract customers, Liateé bought some antl

Foxamy
rmined t,lmt the probablllty

- shop. and analysts have dete

that an ant.lque

where r is also between 0 and 1. Find the probability (from 0 to 1)

has at least 85% aluminum. Round answer to 4 declmal places.
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has a rather large menu, and analysts

Example 4. (TIME PERMITTING) Liateé
his menu 18 modeled by:

the ability of a customer 10

)

M(t) = 180007~y

determined that memorize t

where 13 < t < 100 is the customer’s age 1 years and
’ 13 ' oes 35 and 48.

- 100. Find the averag
Round answer to 3 decimal places.
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